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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) M XETH & (10°L/4F)
1 |pnZEm 6,306,648,945)F15TH 402,938 inZETH 20,389,872
2 |gEah 335,389,799 hnZETH 116,147|SLN = FE T RFIX 16,835,446
3 |BES 14,539,944| A& 98,385) A AR E &= LLIET 16,422,679
4 |l 13,767, 360| AfE 28 E 2 LLET 96,774|B&TH 16,058,941
5 |l 7,251,041|F A 91,576 R4 9,851,168
6 |AET 7,095,184) =4k th 89,898 F H1 2,759,700
7 HEfEREILET 5,819,985\ XL\ f=FEHHEFR 79,056) = i 1,720,517
8 |ERAE 5,667,019 R4 53,748|F0JtH 1,059,656
9 |Emmh 5,556,288 AR ETH 36,045 | SLV=FEHAER 241,302
10 |iFa™| 4,742 322iF ™ 27,8423 RFEth 231,574
11 |FRER/NEE R T 4,667,433)/\#tH 11,242 =F X 217,280
12 |F&ET 4,343 582|4&)II T 8407|AETh 217,002
13 |EB&H 4,030,401 7,913)4@ )1 197,022
14 %@t 3,886,733k A 7,788 & Il 173,253
15 | A fEIER#S A ET 3,835,000| AEH 5,850| A& &8 =5 BT 151,797
16 o 3,486,283| R A 5,826k T 141,511
17 [SL=FEhE#HE 3,485402| L@ 4,253)8REETH 96,691
18 |LbEREE=ANAOHET 3,347,744 8EATH 1,935| @A™ 89,165
19 | AR 3,039,737V = EH &R 1,258|SLVi=FEH RIBR 83,101
20 | EEmM 2,707,622 J11#%H 1,230 1% 74,362
21 |B&E™ 2,609,747|SLV=F AR 1,117 REM 72,126
22 |Lb = ER;E)IIET 2,133,952 tb S 2R B )1 [ HT 947)/)\i#Eth 51,196
23 |FriR™ 1,903,265|# R 916| LETH 50,799
24 |BA™H 1,646,554 R LTH 71|t ER 8 I BT 44,165
25 |8 1,508,509) FJ1ITH 662] V2 E AR 1| BT 41,678
26 |fTH™ 1,370,957 | AR EB =5 BT 656RA ™ 28,686
27 |Le=ER/IN)IIET 1,109,632)4THTH 651|4THT 13,441
28 | ARSEB=5HET 948,466| s =EH RIBRX aTpna 13,384
29 |/\i#m 808,530] 2 F A #4) I ET 288|HEATH 12,922
30 |5SLCHEFHH 705,055| %% 52 BB /IN B BT T 234| SN FEHRER 8,350
31 |KREM 693,006k LiTH 19518k 1L 7,367
32 |FHEM 609,388 iR T 88|FriR 5,744
33 |E# T 597,612 %k 3 Bl e AT 84| UTH 3,394
34 |FNm 565,786|& B &P 14)1EHERT 3,382
35 |BrEmH 511,529))1OvH 54| T R BB FART 2,571
36 | KEARZHEHET 503,240 E inth 50| AR 1,409
37 |\REER#)IIET 434551 ARSI 36|F=EFH 1,328
38 At B ILER{FZET 327,258|=F 20) & 2R/ EE B ET 234
39 |ALEAmAERFAKET 294 560 )LV =F AR R 17| =FEHhEHEX 10
40 |EBETH 287,151 L2071 S BT oLV =FHAER 0
41 | =48 212, 710| #& R AR &5 FrHT Of kb 4> &R j= LU BT 0
42 |'REEBEEHT 193,946t 2 &R BRFA K BT O te > ER &5 R AT 0
43 |EFH 186,358 L \=FHER Of ¥ EE T 0
44 SV E=FEHIER 186,255)LL A= ER &= AV BT O|'REAR L EHT 0
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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
45 |SLWzFEmEE 180,628 &L Vi=F /AL X O #k R BR AR BT 0
46 |FEET 129,715 te > BR &5 R AT o) Lb e BREE A3t ET 0
47 |IEX R 129,417 BL R BB £ 7 ET O) AR ERER B R A 0
48 |HeER)I BT 120,608 Lt 1= &R = LLI BT O te =R )1l SHT 0
49 |thERE RET 115,059 | L R BB B R+ o5 LAHErm 0
50 |\R EER L BT 112,210)4t B 3L EB{F AT of-t 2 &m ERFA (K BT 0
51 |AL2&mER4Z FHET 104,013 AT o|EE 0
52 |SLV=FEmER 9 472|EWV=FR R REX O KR ER 2 fE HT 0
53 |#%Rm 91,183|EAEE T ojEss B 0
54 IIRFE™ 87,353|SLV=FEHAER o]&L i=FEmHRX 0
55 |EET™ 79,069)#8~ BT o]&t i=FEmAL X 0
56 |SLV-FEmRIEBR 67,707 |FTEETH o] ARt 0
57 |SLV=FEmAER 65,654| 7 A0 L EHT olFEE EA = BT 0
58 |F0kmh 61,795  LL 18R /1N 11 BT O] Lt A= EB/IN I ET 0
59 |SLizFEm#HEE 53,704|F 5 E AR = R ET oL =FhmX 0
60 [dLAm 39,426 L 1> BB AS LLI BT Of tb A= ER A& LI BT 0
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